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SECTION-A

i) General Awareness

A book “Third Pillar” authored by
(A) Shaktikanta Das

(B) Manmohan Singh

(C) Raghuram Rajan

(D) None of the above

Irani trophy, a trophy associated with
which one of the following sports event
in India ?

(A) Badminton

(B) Cricket

(C) Football

(D) None of the above

What is the chemical name of Bleaching
powder ?

(A) Calcium bicarbonate

(B) Sodium chloride

(C) Calcium hypochilorite

(D) None of the above

Kala azar or Visceral leishmaniasis
caused by

(A) Virus

(B) Bacteria

(C) Protozoa

(D) None of the above

Which of the following country is not a
member of BIMSTEC association ?
(A) Bangladesh

(B) India

(C) SrilLanka

(D) None of the above

With reference to share market, share
price what is “SENSEX” stands for ?
(A) SENSitivity indEX

(B) SENSational indEX

(C) SENSational share market indEX
(D) None of the above

7

10.

Every year Sadbhavana Diwas is
celebrate on

(A) August 20

(B) September 22

(C) March 3

(D) None of the above

Which of the following is the tallest
man-made structure in the world ?

(A) Fazilkka TV Tower, India

(B) Burj Al Arab Jumeirah,UAE

(C) Burj Khalifa,UAE

(D) None of the above

Recently which of the following app was
launched by Agriculture Ministry to heip
farmers to hire farm related equipments
with affordable prices and cutting edge
technologies at their door steps ?

(A) Farm Bee

(B) Kisan Yojana

(C) Uber for Tractors

(D) None of the above

Which of the following statement/s
given below is/are true about Samagra
Shiksha-Jal Suraksha scheme of
Government of India ?

1. It creates awareness about water
conservation among all school
students in the country.

2. 1t helps every student to save at
least one litre of water per day.

(A) 1 only

(B) 2only
(C) Both 1and?2
(D) None of the above
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11.

12

13.

14.

15.

The Judges of the Indian Supreme
Court appointed by

(A) Prime Minister of India

(B) President of India

(C) Chief Justice of India

(D) None of the above

In which of the following city firstever
National Museum of Indian Cinemas
recently inaugurated ?

(A) Chennai

(B) Mumbai

(C) Bengaluru

(D) None of the above

What is the main objective of UNNATI

programme of Indian Space Research

Organization ?

(A) Capacity building programme on
nanosatellite development

(B) Women empowerment programme
in rural areas through satellite
applications

(C) Rural development programme
through satellite applications

(D) None of the above

In which one of the following states in
the country Civil Aviation Ministry has
launched the first Gl (Geographical
Indication) store ?

(A) Telangana

(B) Goa

(C) Punjab

(D) None of the above

in which one of the following states of
India Tarapur nuclear power station is
located ?

(A) Rajasthan

(B) Tamil Nadu

(C) Maharashtra

(D) None of the above

16.

17.

18.

19.

20.

What is the capital of Uttarakhand ?
(A) Raipur

(B) Bilaspur

(C) Dehradun

(D) None of the above

UNESCO recently announced which one
of the following cities will be the World
Capital of Architecture for 2020 ?

(A) Rio de Janeiro

(B) Shanghai

(C) Amritsar

(D) None of the above

First ever printing press brought to India
by

(A) French

(B) Portuguese

(C) Dutch

(D) British

Which of the following software giant
has announced the launch of InfyTQ a
learning app for engineering students ?
(A) Wipro Limited

(B) TATA Consuitancy Services

(C) Infosys Limited

(D) None of the above

What is “EPIC” stands for, which is
voter's identity card issued by an

. Election Commission of India ?

(A) Electoral Photo Identity Card
(B) Election Photo Identity Card
(C) Elector’'s Photo Identity Card
(D) None of the above
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(C) 3oiged widl egefedt #18

(D) 3o H A g TRl
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23.

24.

i) General Intelligence and Reasoning Ability

Vinay remembers that his brother
Anupam’s birthday is after 20" of
August but before 28 of August, while
Rita remembers that Anupam’s birthday
is before 229 of August but after 12t of
August. On which date does Anupam’s
birthday fali ?

(A) 20" August

(B) 21%t August

(C) 22" August

(D} Cannot be determined

Which interchange of signs will make
the following equation correct ?
(16-4)x6+2+8=30

(A) +and- (B) +and x

(C) —and + (D) +and+

A child is looking for his father. He went
90 meters in the east before turning
to his right. He went 20 meters before
turning to his right again to look for his
father at his uncle’s place 30 meters
from this point. His father was not there.
From there, he went 100 meters to his
north before meeting his father in a
street. How far did the son meet his
father from the starting point ?

(A) 80 meters (B) 100 meters
(C) 140 meters (D) 260 meters

Which name will come in the last in a
telephone directory ?

(A) Mahindra
(B) Mahender
(C) Mahendra
(D) Mahinder

25.

26.

27.

28.

29.

Given the sequence,

BCM@NET2Y6SaQ$7+xW#
Z3UE%AA4.

How many symbols are there in
the above sequence each of which
is immediately preceded and also
immediately followed by a vowel ?

(A) Nil (B) One

(C) Two (D) Three

The total number of digits used in
numbering the pages of a book having
366 pages is
(A) 732

(C) 1098

(B) 990
(D) 1305

A monkey climbs 30 feei atthe beginning
of each hour and rests for a while, then
he slips back 20 feet before he again
starts climbing in the beginning of the next
hour. If he begins his ascent at 8 a.m.,
at what time will he first touch a flag at
120 feet from the ground ?

(A) 4pm. (B) 5p.m.
(C) 6p.m. (D) None of these
How many times in 24 hrs. the hands of
a clock are in straight line but opposite
in directions ?
(A) 20 (B) 22

(C) 24 (D) 48
Which year will have the same calendar

as that of 2012 ?
(A) 2020
(C) 2025

(B) 2040
(D) 2031
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(A) Mahindra
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(C) Mahendra
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25.

26.

27.

28.

29,
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(A) 2020 (B) 2040
(C) 2025 (D) 2031
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30.

31.

32.

33.

34.

35.

Find the missing number from given
alternatives.

A

6561| 81
(A) 9 (B) 18
(C) 24 (D) 27

Choose the correct alternative that
will continue the same pattern and
replace the question mark in the
series.

9, 7.23,95, 7
(A) 62 (B) 128
(C) 479 (D) 575

Choose the missing term out of the
given alternatives.

WFB, TGD, QHG, ?

(A) NI (B) NIK

(C) NJK (D) OIK

Income is related to profit in the same
way as expenditure is related to

(A) Balance (B) Loss

(C) Sale (D) Receipts

In a certain code language, BEAT is written
as YVZG, then the code of MILD ?

(A) ONRW (B) NOWR

(C) ONWR (D) NROW

In a certain code, RAIN is written as

8%$%6 and MORE is written as 7#8@.
How is REMAIN written in that code ?

(A) #@7%%6 (B) #@&$%6
(C) 7@#$%6 (D) 8@7$%6

36.

37.

38.

39.

40.

Pointing out to a lady, Rajan said, “She
is the daughter of the woman who is the
mother of the husband of my mother.”
Who is the lady to Rajan ?

(A) Aunt (B) Daughter
(C) Sister (D) Sister-in-law

There are 5 persons. P’s father Q is B's
patemnal uncle and A’s husband M is P’s
patemal uncle. How is A related to B ?

(A) Daughter (B) Son
(C) Aunt (D) Mother

Six students A, B, C, D, E and F are
sitting in the field. A and B are from
Delhi while the rest are from Bangalore.
D and F are tall while others are short.
A, C and D are girls while others
are boys. Which is the tall girl from
Bangalore ?
(A) C

(C) E

(B) D
(D) F

A, B,C,D, E, FandG are sitting in a
circle facing at the centre and playing
cards. E is neighbour of Aand D. G is not
between F and C. F is to the immediate
right of A. Which of the following does
not have the pair of persons sitting
adjacent to each other ?

(A) BA (B) CB

(C) DE (D) GD

In a queue of boys, Sandeep is 10t
from left and Lalit is 5™ from right. The
places of Sandeep are interchanged.
If the new position of Sandeep is 15%
from left, then the new position of Lalit
from right is
(A) 10t

(C) 12t

(B) 11th
(D) 13"
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41.

42.

45.
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ili) Arithmetical and Numerical Ability

A takes 3 hours more than B to walk
30 km. But if A doubles his pace, he is
ahead of B by 1.5 hours. The speed of
A is (in km/hr)

10
(A) 5 iy
20

C) 55 D} &
(©) (D) 5

The age of a father is equal to the
sum of the ages of his 5 children. After
15 years, the sum of the ages of the
children will be twice the age of the
father. The father’s age is

(A) 45 years

(B) 50 years

(C) 35years

(D) none of these

A is thrice as good as B and is therefore
able to finish a piece of work in 60 days

iess than B. The time taken by them if
they both work together is

(A) 15days (B) 22.5days
(C) 22 days (D) none of these
A sum of money doubles itself in

10 years. The number of years it would
triple itself is

(A) 25 years (B) 15 years

(C) 20 years (D) None of these
Which among the following is a
homogeneous differential equation ?
(A) 2xydy - (x3 + y3)dx =0

(B) (x®—-3yd)dx +2xy =0

(C) y2dx—(x2—xy—y?)dy=0

(D) (2x—3y-5)dy—(3y—9x—6)dx=0

46.

47.

48.

49.

50.

In a survey of 1000 consumers it was
found that 720 consumers liked product
A and 450 liked product B. The least
number that must have liked both the
products is
(A) 270

(C) 170

(B) 100
(D) 450

A number which when decreased by
20 is equal to 69 times the reciprocal
of the number. The number will be

(A) 10 (B) 23

(C) 32 (D) None of these

Ratio between the girls and boys in a
class of 40 students is 2 : 3. Five new
students joined the class. How many
of them must be boys, so that the ratio
between girls and boys becomes 4 : 5 ?
(A) 4 (B) 3

(C) 2 (D) 1

The average age of Ashok and Abdul is
45 years, the average age of Abdul and
Anthony is 50 years and the average
age of Anthony and Ashok is 35 years.
The age of Ashok is

(A) 25 years (B) 30 years

(C) 40 years (D) None of these
A dealer buys 200 quintals of wheat
at Rs. 1,200 a quintal. He spends
Rs. 10,000 on transportation and storage.
He then sells wheat at Rs. 13 per kg.
Profit/Loss percentage will be

(A) 4%
(B) 2%
(C) 10%
(D) None of these
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iii) TFVTAG U HEATHe A

30 fort e § A 1 B 352 s o
& | wig afe A 7ot et St ST R oA
?, drag BH 1.5 91 311 e sran @ |
AFrfy (Reft /e ) d 2

10

(A) 5 (B) 3

(C) 55 @), 2

3
e el ot 311 36k 5 ST=a ohl 3T & I
F TS | 15 ST =1 sroeil shi 21 1 A0
foran <Y 31y o1 SRg @ | forerm <Y o1y @
(A) 4538
(B) 50a9
(C) 3598
(D) ¥ ¥ I3 7
A, BE 9 7om 3781 § 3K B A 60 faT 9
G T Uk R ol HATC SR Hehdl © | TS

ST WY HM Hd T, a1 I 6 g forn
T G §

(A) 15f= (B) 22.5f
©€) 22 (D) T | Fi3 AL
T GAUTRT 10 I8 § @g i SIET It

® 1 gg o T @ & &vA ared it
T B

(A) 254 (B) 158

(C) 20 (D) ¥TH & g &
Frafafea d @ san g sEwd
gHfleor R 7

(A) 2xydy - (3 +y3)dx =0

(B) (x®=8y?)dx +2xy=0

(C) y2dx=—(x®—xy-y?)dy=0

(D) (2x—3y-5)dy—(3y—9x—6)dx =0

46.

47.

48.

49.

50.

1000 TTEHI o Teh Gaequr | I8 q& 71 foh
720 TTEeH A 3c91E A i gag foram 37 450
I B 3K I 76 foR | 9 gaw s
g 2t 3eare =t e fon, 3 ¥

(A) 270 (B) 100

() 170 (D) 450

T g f5Ed 9 20 ) 9eR & 918 98
3G T % Fehd i 69 U & A 2
@& Bt

(A) 10 (B) 23

(C) 32 (D) T 9 g TR
40 ot 6t v wer d @it 3R

TSI o o= HT @ 2: 37 | 9 T
Toreneff e & o7 3 | 394 @ foFe T
B STTYaF ¢ aifeh efehal 3R &8s &
o1 o1 ST 4 ; 57 ST ?
(A) 4 (B) 3
©) 2 (D) 1

TR 37N 3Teql ol 3fad A 4599 €,
afege iR U Fi siraa g 509N @
3t g 3fit ereiies ot oftga a1y 35 9
HEENEE IR

(A) 2578 (B) 309N
(C) 407 (D) 370 & S T

T S A 200 faiea 71§ 1,200 %. Ha@d |
364 10,000 %, TREFEA 3R deru W @4
fop | 3o f 135 wfe R R AN
A o /e i anft

(A) 4%

(B) 2%

(C) 10%

(D) T & IS Tl
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o1l.

52.

53.

54.

55.

=12-

_An arithmetic progression has 13 terms

whose sum is 143. The third term is 5,
then the first term will be
(A) 4 (B) 7
C) 9 (D) 2

If the vectors i-j+2ak,4i+2]+09k,
5i+j+14k and 3i+2j+7k are the
position vectors of 4 coplanar points,
then X is equal to
(A) 6

(C) -10

(B) 12
(D) -12

If 2% — 2X=1 = 4 then xX is equal to
(A) 7 (B) 3
(C) 27 (D) 9

Roots of the equation 2x2 + 3x + 7 =0 are
a and B. The value of af™ + Ba~" is

3
(A) 2 B ¥

7 .
© % © -1y,

If a, b are any 2 real numbers and
a >0, b < 0 then which of the following
is true ?

(A)

W[ —
v
o —

(B)

W | —
A
Tl T|=

©)

Il

(D) none of these

56.

57.

58.

59.

60.

O 0 0000 0

If a fair coin is tossed 10 times, the
probability of getting 6 heads is

105 : 1
A 312 ® 373
3
(C) 12 (D) none of these

7 books are to be arranged in such
a way so that 2 particular books are
always at first and last place. The total
number of arrangements is

(A) 60 (B) 120
(C) 240 (D) 480

The angle between the vectors i — j and

j=kis
® %

2

(A) %

© 57 (D) %

Area of the region bounded by the
parabolas y® = 6x and x2 = 6y is

(A) %Eisq. units (B) 8 sq. units

(C) 12sq.units (D) 22 sq. units

The probability that A speaks truth is
y , B speaks truth is 3 4> then the

probability of each contradicting the

otheris
A& No ®) 720
(®) ygo (D) None of these



51.

52.

53.

54.

55.

13-

T FuTaL Aoft 3 13 ug & Rt O 143
? | 1|0 9g 5 R, 9 9gen ue B

(A) 4 B) 7 .

) 9 (D) 2

gfe afawmi - j+ak, 47 +2j + 9k,
51+ +14k 3 3i+2j+ 7k =R
eaHdc faget & feafa afewr &, A &

ENCIE
(A) 6 (B) 12
(C) -10 (D) —12

Afe 2X = 2X =1 = 4.7 XX TR R
(A) 7 (B) 3
(C) 27 (D) 9

GHIHTT 232 + 3x+ 7 = 0% 0t o 3B &)
af ™! + o FHH B

(A) 2 ® %
7
© % ©) 19/,
gfq a, b & aEafa® dEard € et
a>0, b<0 d fi=foliaa o @ Fa

qae?

A 1.
a

| ==

® 1.
a

1
(C) =

(D) ¥ & % e

Tl Ol=

56.

7.

58.

59.

60.

{01
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I ueh Tsqe fireet 10 Iv @@ ST 2,
at 6 Fora 219 1 dvraen @

105 1

512 ® 513

@ 512

- () i &

7 YT I 38 YR e e e s 8

- ok 2 oty ek wom @i sifew T @

gt | et i e we 3
(A) 60 (B) 120
(C) 240 (D) 480

AR i—j M j—k &g F RO 2
(W) 21/ (B)

() Sug ©) %

TS y2 = 6x 3N x2 = By A Siferd e &

(A) %5 sqg. units (B) 8 sq. units

(C) 12sq.units (D) 22 sq. units

A, %aaa’ram%aﬂts, %aaaﬁam

®, A SUTH G THR ! T N A i
BUDET R

A Mo ®) /20
©) o0 (D) &7 & g 7
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61.

62.

63.

65.

14-

iv) Hindi Language and Comprehension

&=t v st =ty

Nt et qE R | 66. I FITET T T T3 T IaTEAT
(A) v (B) wEsiife TR
(C) = (D) fa (A) 98 & 3w

(B) wifirht gareht @
T Y152 | TR SamaTen Yot @l (©) TE H
d8 afga @ | (D) gqmg%s
(A) STIIITEF
(B) FxaTEe 67. EAT: Tt : O : (TS
(C) TET Fd)
(D) wWrEETEH (A) BT (B) =i

(C) = (D) ferdet
mmwaﬁ;“:g 6. "t i wh v BT T e o
(A} (A) ST HEAT
®) (B) Tt Tera e
(C) R (C) Trm foeg 1l e
(D) =TT (D) e | wife g
e T . 69. T A HITWI W FIST Ieq i
FAUH Fed 3§ 8 T AR 7
(A) T (A) T (B) a&
(B) ATchIfeT () =i (D) i
(C) wf=m
(D) FEW 70- W+ M =

(A) e
et & gt fom €| (B) w=sTEA
(A) =& (B) € T
(C) IR (D) U= (D) H=aTE




71, Torg foran @ vyaerra <t Gfererean qon fmn

1 quian wefa 2 38 EREIG
FEAE |
(A) am= (B) m&d
(C) dfeg (D) o
72. 3 S fashey wé R 7
(A) fagsh
(B) forgst
(C) fagfn
(D) fergeft
73. 3u R g8 wilan g 39 G |
g 2
(A) fa (B) 3@
(C) & (D) wrrE
74, T H I BT S |
(A) AIEH (B) al
(C) HWeH (D) #d
75, =T viee ¥ 3uE B
(A) T
(B) &9
(C) &9
(D) 3Iuart & =i R

76. 9 O FET 37T I YHR eI 2 7
(A) Torafasmor
(B) ==Y
(C) Toumrnfesiyss
(D) farsror

5.

77.

78.

79.

80.
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AT : FeHt o e

(e Fd)

(A) dre (B) @

(©) @ (D) =l

TAGA T IR Fed H SRR R |

(A) FduH

(B) e

(C) @

(D) M qun wiasaq 2

Sirg ffia :

3) TorErE R %) e d sga
et TEd

) weIErE faRie @) e s
TIRY & Igd
RERS

%) wEar fasmor ) gd-ngs
%) AmaErh e ) e et

H oam 3z 3
AT ® ¥ &
B g & T g
©9 @ 1 %
T @ 9 %
ToReAT 312 1 Fejarees Fed &
(A) fer@ar (B) Tor@w
(C) foraer (D) foret
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81.

82.

v) English Language and Comprehension

IR e R =Y
Fill in the blanks with appropriate preposition :

| inquired him whether he
would come with us.

(A) about (B) after

(C) of (D) with

The stoic is indifferent

pleasure and pain.

(A) to (B) of

(C) from (D) off

Select the adverb particle from the following
sentences :

83.

84.

85.

They called the doctor in.
(A) they

(B) called

(C) the doctor

(D) in

You must send them back.
(A) you

(B) must send

(C) them

(D) back

Change the following sentence into

complex :

“I have no money to lend you”

(A) | have no money that | can lend
you

(B) | can’t lent money for | have no
money

(C) |have no money so | am not going
to lend you

(D) None of the above

86.

87.

89.

‘| was surprised to see his obstinacy’

(A) | was so surprised that he is
obstinate

(B) | was surprised when | saw his
obstinacy

(C) | was surprised for his obstinacy

(D) None of the above

Select the sentence which is in past perfect :

He had visited Moscow

She has been staying here for
many years

The patient has slept

Mr. Sampath went abroad

(A)
(B)

©)
(D)

Change the voice of the following sentences :
88.

The queen was given an affectionate
welcome.

(A) An affectionate welcome given to
the queen

An affectionate welcome had given
to the queen

Someone had given the queen an
affectionate welcome

The people gave the queen an.
affectionate welcome

(B)

(€)

(D)

People speak English all over the
world.

(A) English is spoken all over the
world

(B) English is being spoken all over
the world

(C) All over the world English is
spoken )

(D) English is spoke all over the
world



Choose correct one word substitute for the
following :

90. “A cruel or oppressive ruler’
(A) Gilutton
(B) Chaos
(C) Tyrant

(D) None of the above

91. ‘A long walk usually for exercise or
pleasure’.
(A) ramble
(B) stroll
(C) loiter
(D) none of the above

Select simple present from the following
sentences :

92. (A) | believe you
(B) She got up when the alarm clock
went off .
(C) She was shaking with anger as he
left the hotel

(D) She is eating

Fill in the blanks with appropriate words from
the given options :

The specific theory of relativity was (93)

in a scientific journal at the turn
of this country. Since that time Einstein has
become as (94) as generals and
great political leaders. In one way, this is not
(95) because his theory caused a
(96)

93. edited

published

(A)
(C)
(A)
(B)
(C)
(D)

(B) released
(D) opened

94. well known

happy
pleased

generous

AT
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95. (A)
(B)
(C)
(D)
(A)
(B)
(€)
(D)

Select the part of the sentence which has an
error :

shocking
surprising
pleasing

none of the above

96. change

evolution
revolution
reformation

97. We had been to Delhi last week.
(A) we had been
(B) to Delhi
(C) last week
(D) no error

98. She has been waiting since four hours.
(A) she has been

(B) waiting since

(C) four hours

(D) no error

Choose the correct synonym of the word
underlined in each sentence from the
alternatives given below :

99. He thought that the Dutch were a parcel
of avaricious men.
(A) happy
(B) smart
(C) greedy
(D) lazy

Everyone thought that it was a judicious
remark.

(A) thoughtful
(B) sensible
(C) witty
(D) cruel

100.
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101.

102.

103.

104.

105.

106.

SECTION-B

Post Specific Subject-Related Questions

In India the popular network agencies
in University Education Research is
(A) xxx@emet.in (B) xxx@edu.in
(C) xxx@ac.in (D) xx@nic.in

Currently the popular applications in
social media are
(A) WhatsApp
(C) Twitter

(B) Facebook
(D) All the above

Currently, which mode is used popularly
for fund transfer ?
(A) Googlepay
(C) NEFT

(B) Paytm
(D) All the above

Currently, the money withdrawal in
ATMs operates through CBS. CBS
means

(A) Core Banking Solution

(B) Central Banking Service

(C) Core Banking Service

(D) Central Banking System

In India, the popular network which has
more library as members is

(A) ADINET  (B) HELINET
(C) DELNET (D) MANLIBNET

In Indian University System, the popular
body for accreditation is

(A) NBA

(B) NAAC

(C) NIRF

(D) None of the above

107.

108.

109.

110.

111.

Recently MHRD, Govt. of India introduced

NIRF for assessing performance of

Educational Institutions. NIRF means

(A) National Institutional Ranking
Framework

(B) National Institute Rating

Framework

National Institutional Ranking

Forum

National Institutional Rating Forum

(©)
D)

In India, the Technical Education is
approved and moderated by AICTE.
AICTE means
(A) All India Centre for Technical
Education
All India Council for Technical
Education
All India Commission for Technical
Education
All India Committee for Technical
Education

Like AICTE, the body for approving or
moderating Medical Education in India is
(A) MCI (B) IDA

(C) RGUHS (D) AIIMS

The National Repository created for
Electronic Resources in India is

(A) National Digital Library

(B) National Resource Centre

(C) National Library of Digital
Resources

National Institute for Digital
Repository

The type of connectivity options provided
by Internet Service Providers are

(A) Dial-up (B) Leased lines
(C) VSAT (D) All the above

(B)
(C)

(D)

(D)
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101.

102.

103.

104.

105.

106.
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-
ure wftfee fawa - w@adt uw

T # ferearferenrera fven srguam # wftg
Feaeh firmor '
(A) xxx@emet.in (B) xxx@edu.in

(C) xxx@ac.in (D) xxx@nic.in

Sifirerer e & adar & witg s
(A) =RE (B) wugF
(C) faa= (D) 3ea wsft

a1t & 8, Tt sieror &g same w9 @ s
B aTeT e 8

(A) TFTErd (B) ¥w

(C) A® (D) 3oa ot
IS, T § ¥4 e Hieid &
Hrea @ foran s 2 | Hisfog & o1 ®
(A) R SfeFT HiegeH

(B) ¥ siferm widw

(C) &R Sfhm afdg

(D) e s freen

I H, AR 2aeh forat SeT Jeeherd
T FEIH R

(A) ADINET (B) HELINET

(C) DELNET (D) MANLIBNET
It fovaferner woneft ®, A &g
i frem @

(A) NBA

(B) NAAC

(C) NIRF

(D) I H T Hi 7

108.

109.

110.

111.
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107. ¥ &, INd TR U ARE 3 Hfée

LTI o Fa1e o Hodie o NIRF I&

fFar | NIRF 1 31f 2

(A) TS SRR T Fuas

(B) AvHd seitee i Paash

(C) e SIS Lok B

(D) ¥ eSS e s

W |, deh-1 1ok R1&T AICTE g1 SigHifed

3 gafia 6 Sl 8 | AICTE &7 319 @

(A) 3T sfean det i Sfarera
TSk

(B) 3T sfean sisfie wi 2feema
TS

(C) 3iet sfean sty B frrepe
TSheH

(D) 3T sfean wite wit e
TS[heH

AICTE i wifa, Fafercar fram = syea #
rHifea a1 wafird G arel e @
(A) MCI (B) IDA

(C) RGUHS (D) AlIMS

A H Soiagiieh GETEH] ?g SHET ™0
TS iy @

(A) T fefoea geaate

(B) TS g@meH g

(C) TefSiea dareri &1 U Tshierd
(D) fsforea =iv 3g Ui Twem

e Hal YT F0 39 T T
FAfaefadt faspedl &1 UeR ®

(A) SRIA-39  (B) cflse &g
(C) VSAT (D) 3 o+l
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112.  RFID technology primarily used in

113.

114,

115.

116.

117,

- libraries for
(A) Security

(B) Transaction
(C) Inventory
(D) All the above

ISBN and ISSN standards are assigned to
(A) Serials and books

(B) Books and serials

(C) Books and videos

(D) CDs and videos

Study cubicles/carrels are normally
created or meant for

(A) Students

(B) Public

(C) Women

(D) Research scholars

Inspection or scrutiny of financial
transactions in libraries is called

(A) Budgeting (B) Valuation
(C) Accounting (D) Auditing

In Library Budget Fund fund
cannot be used for other purposes.

(A) Recurring
(C) Restricted

(B) Non-recurring
(D) Encumbering

takes items of expenditure
for libraries as data input for fund
allocation.

(A) Method of details
(B) Per capita method
(C) Principle of economy
(D) Library budget

118.

119.

120.

121.

122

123.

124.

125.

0

Which fund of library budget takes

~maximum share ?

(A) Books

(B) Joumnals

(C) Databases

(D) Equipment and maintenance

The environment that allows accessing
e-resources is

(A) LAN (B) WAN

(C) Wi-Fi (D) All the above

The ETD repository developed by
INFLIBNET is known as

(A) Shodhsindhu (B) Shodhganga
(C) Vidyamitra (D) Shodhgangotri

NISCAIR was formerly known as
(A) DESIDOC (B) NASSDOC
(C) INSDOC (D) SENDOC

Which one is the real process gaining
knowledge ?

(A) Information — Knowledge — Data
(B) Data - Information — Knowledge
(C) Information — Data — Knowledge
(D) Data - Knowledge — Information

Which one is the first generation
computer ?

(A) Micro computer

(B) UNIVAC-I

(C) Super computer

(D) ENIAC

Which is the most important part of
computer terminal ?

(A) ALU (B) CPU

(C) CU (D) Output

Keyboard, mouse, scanner and cursor
etc. of computer are the

(A) Input devices

(B) Memory devices

(C) Output devices

(D) Storage devices
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112.

113.

114.

115.

116.
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JEAHIeRl 8 WAfiE €9 ¥ T i S
et RFID a1 ®g WgF
B 2 |

(A) wiafa

(B) 3iau

(C) gy

(D) I aft

ISBN 371X ISSN | i feu
AR |

(A) Hifered 3 T

(B) Teramsl ofit Hifew

(C) fopare 3 fifem

(D) e 3fk Sfifea

HEIT F

EICEA

(A) faenef

(B) S

(C) wfeamd

(D) FEYwEA

Wﬂ?ﬁﬁﬁ?ﬂﬂ o s e @

_ FEAdEl

(B) Hedis

(D) <@ gdE

NISEINDECTACIPE: ffer a1

el & fore v e fefa i @ean |

(A) mafd (B) M-armafd

() wasfera (D) wrErd
JEAHIEl o foTe =99 < Hal

ﬁﬁaﬁa%gaam?wﬁémh

(A) T 6 fafyr
(B) wfd =afea fafy
(C) =g &1 fam

(D) JEhIeE T

oG AIRIG: 1Y

(A) aaﬁn
(C) <@l

118.

119.

120.

121.

122.

123.

124.

125.
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I gEaee awie ff siftemam s
A e ?

(A) foramst

(B) SHa

g;q%:rhwaﬁ ~ TG a% g i STRTd
(A) LAN (B) WAN

(C) Wi-Fi (D) I ot
INFLIBNET g1 fasfaa ETD =iy
HEATI 2 | :

(A) ﬂﬂﬂﬁﬁ‘a (B) i

(C) forenfim (D)
NISCAR®I @ H ___ F99d
SH1 ST |

(A) DESIDOC (B) NASSDOC
(C) INSDOC (D) SENDOC
mwﬁmm%?

(A)
(B)

-?EI’-TI-W

(C) HiehS -

(D) =~ =T

iy e # Fee R ?

(A) TSR FHE

(B) UNIVAC-

(C) FRFYX

(D) ENIAC

ST P e T Hea QU W g ¢

(A) ALU (8) CPU

(C) CU (D) 33T

$erE, w3y, ;‘émaﬁxwaﬂﬁw
|

(A) 39 fearza

(B) feargm

(C) ARG i%aisa

(D) WRS



MKG-XXI/TECHLIB/1T/06

126. - Arrange the following in increasing order
of their size.
1. Bit 4. Kilobyte
2. Byte 5. Megabyte and
3. Gigabyte 6. Terabyte
(A) 1,2,8,4,5and6

127.

128.

129.

130.

131.

132.

133.

-22-

1,2,4,5,3and 6
(C) 1,2,4,3,5and 6
(D) 1,2,4,6,5and 3

Binary system of computers consists
(A) Twodigits  (B) Four digits
(C) Six digits (D) Eight digits

In which year, computer was used first
in India ?

(A) 1957 (B) 1958

(C) 1955 (D) 1960

The internal memory units of computer are
(A) ROM and RUM

(B) RAM and ROM

(C) RAM and WROM

(D) None of the above

Windows, Linux, Unix etc. are examples of
(A) System Softwares

(B) Application Softwares

(C) Softwares

(D) Operating Systems

What is full form of DBMS ?

(A) Data Base Management Services
(B) Data Base Management Systems
(C) Data Base Manager Services

(D) Data Base Managing Systems

CDS/ISIS software was developed by

(A) UNIDO (B) UNESCO
(C) UNAID (D) UNISIST
The augmented version of CDS/ISIS is
(A) Sanjay (B) SOUL

(C) CDS (D) Librarian

134.

135.

136.

R0 Y00 0 OO O 0

Match the following :

1. Transliteration i. List of
subject
headings
including cross
references

2. Tracing ii. A device which
performs input/
output
operations in a
computer

3. Terminal iii. Record of
headings for
additional
entries on main
entry

4. Thesaurus iv. Method of
writing text into
another
language

1 2 3 4
(A) iv i i i
(B) iv i i i
(C) iv i i i
(D) i v i i
Koha, EPrints are

(A) Open source softwares
(B) OAI

(C) Proprietary softwares
(D) Operating softwares

INFLIBNET’s annual conference is
Caliber and DELNET's conference is

(A) NACLIN
(B) NATLIN
(C) NATLIB
(D) NATCON



126. frafafaa i 9% R & 9gd #0 &

127.

128.

129.

130.

131.

132.

133.
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s

1. foe 4. Toraramge
2. W% 5. AMETEE 3R
3. TfrmeEe 6. UEREE
(A) 1,2,3,4,53N6

(B) 1,2, 4,5, 336

(C) 1,2,4,3,53M6

(D) 1,2,4,6,533
et i faommendt yoneht AsHE |

(A) T T (B) IR 3%

(C) &: 3% (D) 313 37

RA # F geel! a1 fod 99 § wam
Topam T ?

(A) 1957 (B) 1958

(C) 1955 (D) 1960

FS H ATANH HAR FHEAT

(A) Tm 3™

(B) W IR AW

(C) 3R

(D) IFH § HIs TE

{3, e, gfiew anfy %
JEEE |

(A) Trew gigeam

(B) Qtfﬂaama‘fqeém

(C) |iwa=R

(D) rqfen fem

DBMS i1 o} foam #=11 & 7

(A) ereTeg AeHe wfaes -
(B) Srereg AsHe e
(C) SREE MR wfaast
(D) <rereg Hafem faegd

CDS/ISIS BT T fosfta
ekl

(A) 'UNIDO (B) UNESCO

(C) UNAID (D) UNISIST
CDS/ISIS &1 Faftia g% &

(A) GEsiE (B) SOUL

(C) CDS (D) wmgsfEA

135.

136.
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134. Tyafafieq =i fiemu

1. oo i, forra sfdent it
g yfafes
gfga

2. fam ii. T gfFa S U
Hoget A 9/
FT32YE YR
FAT e

3. e iii. &7 yfafe «
Ffafterm wfafees
F fou sidai =
sfireiE

4. Fmi™ iv. T1ad i gal
amr i forga &t
fafy

1 2 3 4
(A) iv i Qi
B) iv i i i
©) iv i i i
() i iv i i

Koha, EPrints &

(A) ST HIE R

(B) OAI

(C) WTHHT HIFAR

(D) AT HireaT

INFLIBNET &1 aifie g9ie Caliber 2
3t DELNET &1 9o &

(A) NACLIN

(B) NATLIN

(C) NATLIB

(D) NATCON
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137.

138.

139.

140.

141.

Off-Campus access is provided by
(A) Remote access server
(B) Campus-wide network

“(C) Wi-Fi

(D) LAN

IP authenticated access facilitates users

to access

(A) Through login credentials

(B) Through suitable server path
without login

(C) Through different paths

(D) Through different places

When DELNET was established as a

agency ?
(A) 1990 (B) 1992
(C) 1988 (D) 1995

Match the following organisations with
their year of establishment :

Part-1 Part -2
1. INSDOC a. 1970
2. SENDOC b. 1971
3. DESIDOC c. 1967
4. NASSDOC d. 1952

1 2 3 4
(A d b ¢ a
B)a b ¢ d
(C)d ¢ b a
(D) a d b ¢

Match the following based on their
purpose and contents :

1. NDL a. Consortium
2. NPTEL b. Digital
resources
3. SHODHGANGA c. Instruction
resources
4. SHODHSINDHU d. Theses
resources
1 2 3 4
(A)a b ¢ d
B) b ¢c d a
(C)c d a b
(D) d a b ¢

142.

143.

144,

145.

146.

147.

00O 0 KO0 A 0

Who defined the Information Science
as “Information Science is the discipline
that deals with the processes of storing
and transferring of information” ?

(A) S.R. Ranganathan

(B) Encyclopaedia Britannica

(C) J.H. Shera

(D) D.T. Foskette

Who developed the term Information
Society ?

(A) M. A. Gopinath

(B) J. Martin

(C) S. R. Ranganathan

(D) J.H. Shera

What is formal communication ?
(A) Non-print mode of transfer
(B) Oral mode of transfer

(C) Printed mode of transfer
(D) Verbal mode of transfer

Which agency drafted and implemented

national policy on library and information

system in our country ?

(A) Dept. of Education, Govt. of India

(B) NISSAT

(C) uGC

(D) Raja Rammohan Roy Lib.
Foundation (RRRLF)

S. R. Ranganathan enunciated five laws
of library science in the year

(A) 1930

(B) 1931

(C) 1928

(D) 1933

What is the main factor considered in
fourth law of library science ?

(A) Staff

(B) User

(C) Time

(D) Management
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137.

138.

139.

140.

141.

95

ama—ﬁmtlg'a

(A) T 9 T
(B) Fug-arge oad
(C) Wi-Fi

(D) LAN

mﬁfﬁwﬁqmgamaﬁaﬁ
TEa H g Yo W R |
(A) Wm%w
(B) WS 3 foiT SRt TR Gl HHTEAN
(C) fafir= vt & wrem
(D) Tafy= wamt & wrem

DELNET Tsitfl o &9 3 %l T1iud g ?
(A) 1990 (B) 1992
(C) 1988 (D) 1995

frafafaa @me it 39 T 9 &
'GT?IﬁIFﬂEQ:
qrr -1
INSDOC a. 1970
SENDOC b. 1971
DESIDOC c. 1967
NASSDOC d. 1952
1 2 3

ST 39S S TS|

qT -2

B 00 Iy

(A) d
(B) a
C) d
(D) a b

3 Ievd A gWAT & g W
ﬁm%ﬁaaaﬁﬁmq

NDL a. ggsiiad
NPTEL b. fefSea gamm
SHODHGANGA c. 3w gamm
SHODHSINDHU d. fifqa gama=

c
c
b

o o OO
(@ I+ R H < I =

Bowp o

(A)

(C)
(D)

C
O 0 O M =
v oo oN
oo a0 W
O T QP

142.

143.

144.

145.

146.

147.
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forem g fagm =it g fomm <= fowa
B0 g % Hewor S e i Wi
Y Haifta & 3 9 # fofye fon 7

ToRe =T TSt ¥Tse ot forenfaa femar 7
(A) . T, MY

(B) . ®iféq

(C) TH. HR. THIH

(D) . TE. I

ST G F g ?

(A) T 1 I fsd T
(B) TAHTGLUT 1 Hifdeh TR
(C) MG 1 Yfsd YR
(D) TIHTGRU &l dTfdeh TR

I T 7 TR a9 H g 3

I YUt | U Hifd Irefua 3R

Fifaq it ?

(A) T favm, wra @R

(B) NISSAT

(C) Fsfreft

(D) TSI THHTEA T4 STgsil HI3SyH
(RRRLF)

LR UCIPEEE L] ¥ e
o9 o ufa g T fe |

(A) 1930

(B) 1931

(C) 1928

(D) 1933

T fage & = wE | e g
Fe W o= e man g 7

(A) V%

(B) WAV

(C) ¥m g

(D) wsEH
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148.

149.

150.

151.

152.
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“Save the time of user”, consider user in
(A) Within library premises

(B) Outside library premises

(C) Both (A) and (B)

(D) None of these

Fourth law of library science follows the
principle of

(A) Marketing of products and
services

Customer satisfaction

Customer behaviour

All the above

(B)
(C)
(D)

Quality of library and information
services focus on

(A) Quality of service

(B) Quality of resources

(C) Delivery of right service on time
(D) All the above

The SERVQUAL model developed by
Parasuraman and his research team
identified “TANGIBLES, RELIABILITY,
RESPONSIVENESS, ASSURANCE
and EMPATHY" as five dimensions of
service quality, which impact greatly
on customers’ perception of service
quality. The model depicts

dimension as most impacting dimension
from customer perspectives.

(A) TANGIBLES

(B) RELIABILITY

(C) RESPONSIVENESS

(D) ASSURANCE/ EMPATHY

Taking cues from SERVQUAL model,
the TANGIBLES related to library are
(A) Library building

(B) Facilities and equipment

(C) Appearance of personnel

(D) All the above

153.

154.

155,

156.

157.

158.

LibQUAL+, the adopted version of

SERVQUAL model for measuring service

quality in libraries was developed by

(A) Association of Research Libraries
(ARL)

(B) IFLA

(C) American Library Association (ALA)

(D) OCLC

Plagiarism means

(A) Verbatim lifting of passages without
crediting the source

To steal or theft of other's work and
claim it as own

Paraphrasing the original work
without any attribution

All the above

(B)
(C)

(D)

The software developed to check/verify
the plagiarism context is

(A) Turnitin

(B) Euphorus

(C) Plagiarism check

(D) All the above

The citation format or systems followed
in research papers is based on the
following style

(A) Chicago style (B) APA style

(C) MLA style (D) All the above

Govt. of India introduced GST in 2017
to replace earlier taxes. GST means
(A) Goods and Service Tax

(B) Goods and Sales Tax

(C) Goods and Systems Tax

(D) None of these

The factor that influences resource
sharing is

(A) Increased cost of documents

(B) Library space constraint

(C) Increased volume of documents
(D) All the above
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148. SIS 1 G SR ST 9
R EE e |
(A) Wﬁi
(B) J&shIci™ CI
(C) (A) 3 (B)aHi
(D) 398 & His T

149. gk fage o <hen fram
F MR
(A) Sl 3R darei 1 fauuE
(B) TTeh wgfe
(C) TTESH FaER
(D) I adi

150. WWWﬁﬁW

o et B

(A) JUradl

(B) GETEHA ! UEET

(C) awa W &l 8ar hl gyarit
(D) I g+t

151. SERVQUAL Wies TFH g1 faehféd
foram T ot A& IgEYE W A
aredfaerar, fovaadiar, vfafamerena,

£ v

ST % ®Y H 9g=HI 8, S 891 JurEd

% TTEh! o gfRSRIVT T ITET TTS STeelt 2 |

u?ﬁﬁiaamﬂj%aﬁﬁm

UEH hgeHI B IR Afead

e atftes yaraemedt s awriar 2

(A) arEdfashar
(B)
(C)

PIGIERIRED
(D) wefifer /= fa

152. SERVQUAL #igd @ &&d dd ¥8d

el § et i §
(A) TR famior

(B) gfaem 3 Iuaor -

(C) HIfifent T Fehdtehum
(D) I ot

oy

156.

158.

153.

154.

155.

157.
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LibQUAL+ JEqehierdl H ST Joreret 71
¥q SERVQUAL Higd &1 ATHT 71

e g forefya R
(A) aaaangamﬁm@lﬁqm (ARL)
(B) IFLA

(C) e TEaaer THIRIUIH (ALA)
(D) OCLC

wifoufey #1 3d @

(A) Uiede =i eRan: 33MT, s @

&1 W

(B) TWI & &M & FUAT A G
AT

(C) for fereft tferepm o et v =t wferea
FET

(D) I aft
wifsuften ged = Siteq /aenfid 3 &
foru farerfira w2

(A) =

(B) THIH

(C) =ifSrefsn =%

(D) 3 ot

FIEIH A B AR T Tl
gawr yrEeq a1 yunfert frafafaa feh
T ITYTE B

(A) RSt (B) APA e

(C) MLARElt (D) s @t

R T A Tt SR o TR s ah foefl
2017 HSiegd 3 e | GST = sl @
(A) T T e

(B) TSH U Hey 39

(C) T Us Ry 5@

(D) 39 & IS A&

TR I ST EETEH SR ol I Sl 8
(A) TEIESI I G g Hed

(B) TSI T aTeT :
(C) TSI ohl a1 g3 HAAAH
(D) 3% asft
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159.

160.

161.

162.

163.

“Which of the following is first Indian

Storage Library ?

(A) SENDOC Library

(B) UGC Resource Centre
(C) INSDOC Library

(D) ICSSR - Inter Library Resources
Centre

The combined list of books, periodicals
and other documents of different
libraries is called

(A) Cooperative catalogue
(B) Shared catalogue

(©) cp

(D) Union catalogue

When Mudaliar Commission was set up ?
(A) 1952
(B) 1956
(C) 1950
(D) 1964

Who is responsible for first Library
Legislation in India ?

(A) S.R.Ranganathan

(B) C. G. Vishwanathan

(C) A. Dikinson

(D) W. Borden

In which state of India, the first Public
Library Act in 1948 was passed ?

(A) Karnataka

(B) Madras (Now Tamil Nadu)
(C) Andhra Pradesh

(D) Maharashtra

164.

165.

166.

167.

168.

169.

D0 O 00

In India, Librarian’s day is celebrated on
(A) Aug.9

(B) Aug. 12

(C) Aug.5

(D) Aug. 19

Which organisation setup Library Advisory
Committee with S. R. Ranganathan as its
Chairman in 1957 ?

(A) Ministry of Education, Govt. of India
(B) UGC

(C) ICSSR

(D) CSIR

What is correct about Mobile Library ?
(A) Moves from place to place

(B) Serves in many localities

(C) Library on wheels

(D) All the above

Who is responsible for starting DRTC
at Bangalore ?

(A) Ranganathan

(B) Gopinath

(C) Seetharaman

(D) Neelameghan

Another term associated with PERT is
(A) CPM

(B) HRM

(C) MBO

(D) POSDCORB

What course is offered by DRTC ?
(A) Masters Degree in Library Sc.

(B) Doctoral Degree

(C) B.LibSc. Degree

(D) Associateship
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159.

160.

161.

162.

163.
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Frafefiga o @ FHet yom ST serm
T B 7

(A) SENDOC J&iehie

(B) UGC HaTeH %3

(C) INSDOC J&isheid

(D) ICSSR — it J&ishieid HHTEH g

fafim qeaseml &1 qeae!, smafs
ufrerratt R 7 Earas Y G gt
__ wEade |

(A) Hifea ke

(B) €SI et

(C) CIP

(D) IfE Feren

HaferR 3TN e Hfafsdq gat ?
(A) 1952
(B) 1956
(C) 1950
(D) 1964

WRA # SoH JEdHIe faumm &g
IuEr 8 ?

(A) TH. AR, THIEH

B) @ ft. fawamam

(C) u. fefram

(D) sseg, |ied

HIA o forl T H, T HiasTHe: Teaehier
rferfrar 1948 © wifeq T ?

(A) FAleH

(B) W5t (I ditrerrg )

(C) ngYew

(D) HERTSg

164.

165.

166.

167.

168.

169.
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A A, T s faw
I T SR |

(A) 9 3T

(B) 12 3T

(C) 537

(D) 19 3 R4

foFa @ 3 1957 & W, SR, THTEE H
A ST U JEehIe TelTehr afifa
8 ?

(A) e worer, Ya R

(B) UGC

(C) ICSSR

(D) CSIR

HIETE JEhIer o s 3 41 Tel & ?
(A) T T H R H aF STt 8
(B) % TIHI W AaTd &1 &

(C) ufedi W qeasherd

(D) 3%a Tt

STeR § DRTC WY %+ & fow +=
IaEEt ? ?
(A) THIEH
(B) TS
(C) Harm=
(D) HremEA

PERT ¥ 931 380 713 8
(A) CPM

(B) HRM

(C) MBO

(D) POSDCORB

DRTC ERT 78T ¥ T S1aT & 7
(A) TereTerd fagm # e fef
(B) StERe feit

() . fa=angy faft

(D) T
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170.

171.

172.

173.

174.

Where India Office Library is located ?
(A) Great Britain

(B) USA

(C) India

(D) Nepal

The card catalogues which were
arranged in a specially designed
catalogue cabinet are now being
replaced by
(A) OPAC
(B) OPEC
(C) OPUC
(D) OPCA

One of the acquisition principles states
that “the resources acquired need
to reach large number of users at
cost.”

(A) Higher
(B) Medium
(C) Lesser
(D) Zero

The main functions of Technical Section/
Processing include

(A) Classification

(B) Cataloguing

(C) Both (A) and (B)

(D) None of these

Books misplaced on the shelves by
readers are restored. This work is
referred to as

(A) Shelf reading

(B) Stock verification

(C) Shelf rectification

(D) Reshelving

0000 O 0

175.  Match the following :

176.

177

1. Array a. One of the
cataloguing
codes

2. Acquisition b. Repository of
public or historic
documents

3. Addedentry c. Secondary
catalogue entry
of a book

4. AACR d. A series of
coordinate
subdivisions of
a class

5. Archives e. Process of
procuring
resources tothe
library

1 2 3 4 5

(A) d e ¢ a b

B)e d ¢ b a

(C)a b c d e
D) b a ¢ e d

A rubber stamp impressed on the
verso of title page giving information
conceming the records and processing
of each individual book acquired is
called

(A) Book stamp

(B) Process stamp

(C) Accession stamp

(D) Date stamp

The CIP entry found on
(A) Verso of title page
(B) Title page

(C) Verso of cover page
(D) Cover page
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3 P Al wef fm & 7
(A) U2 forea

(B) qTHT

(C) ¥

(D) A

3 HIE Ferar i us fafvrea: fesmgq fre
e et e o aferd frm Y, o
T wioeenfyd f e R |

(A) OPAC

(B) OPEC

(C) OPUC

(D) OPCA

w ftmrew fFrem wean @ f6 arftmfea
fumEmeAisl W
| TR T UgEHI ST &)

(A) I=TR

(B) wEEH

(C) =H

(D) A

. T S /SRR e e

(A) arfianor

(B) AT ST

(C) (A) iR (B) i
(D) &9 & IS 7

SR W Tt geash S 913l | @ S
£, g e ) STt B ) F
FEATAE |

(A) oew ffén

(B) ik g

(C) % Uaefreram

(D) Tifeam

175.

176.

177.
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Frafafaa = e

1. 3TYE a. herdrm T &
i 7 8

2. ftmrgm b. HidsifAe AT
MG HITES
EASSI Y

3. affayfafe ¢ wHTEEHH
faeiaen Serai
i ufafe

4. AACR d. Uk o fHexTieh
IufawreEt h
T JGl

5. AT . JI&e |
ITS FETEAT
CARED)

112 o iBioeicnl

(A) d e ¢ a b

B)e d ¢ b a

(C)a b ¢ d e

@b a c e d

il g8 & It IR Yfgd o La s

Hfvreral & wefta gean 31 @ o Tl

arfefed geas &1 SEwR

FEAT & |

(A) J&T&H RH

(B) THE &

(C) THRITH W

(D) fafyr =

clp yfafe R ferdi 21

(A) e 753 i 39 3R

(B) ¥t yss

(C) 3Taw gs3 I IA AR
(D) AT &3



MKG-XXI/TECHLIB/1T/06

178. Which of the following are value added

179.

180.

a2

information services ?
i. Aggregator service
ii. Referral service
iii. Document delivery service
iv. Research reports/market survey
reports

(A) iand iii are correct
(B) ii and iv are correct
(C) ii and iii are correct

(D) iand iv are correct

“Women are more in library profession
than men.” Identify the variable in the
statement.

i. Men and women are independent
variables.

ii. Men and women are dependent
variables.

iii. Library profession is a dependent
variable.

iv. Library professionis anindependent
variable.

(A)
(B)
(C)
(D)
Systematic sampling is

i. A type of probability sampling.

ii. A type of non-probability sampling.

iii. in which first unit is selecied

i and iii are correct
i and iv are correct
il and iii are correct
il and iv are correct

randomly.
iv. Selected on the basis of specified
characteristics.
(A) iand iii are correct
(B) iand iv are correct
(C) iii and iv are correct
(D) iiand iv are correct

181.

182.

Match the following :

1. Hardware a. An electronic

device coated
with magnetic

substance

2. Hard disk b. A chip on
which central
processing unit
is mounted

3. Input ¢. Communicating
information to
computer

4. Microprocessor d. One type of
computer

5. Microcomputer e. Physical unit of
a computer

1 a2 =4 78

(A)e a ¢ b d

B) a e ¢c d b

(C)e a ¢c d b

D)e a b ¢ d

Which of the following is not in the
group ?

1. ILA

2. IASLIC

3. ALA

4. |ATLIS

(A) ILA (B) IASLIC
(C) ALA (D) IATLIS
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Frafafiga § @ S geaatia
i & 7 o
i. WES aa

ii. gey A4

i, TS g A

iv. FgEa™ e /T gago fard
(A) i 3T iii g E

(B) i 3 iveEd &

(C) i 3N iii Tt ¥
(D) i3 ived

“ eI SAET | Higed gesi o 3tferen
1 38 %y 1 W ugEe |

i, gt offt et we s R
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iii. JEaeTer SaEr U it R
iv. JEIERICR SIaETd U Wad 97|
(A) i 3 i Tt &

(B) i 3 iv e &
(C) ii 3N jii v &
(D) i Mivad

TUTTEA T TR0 B
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iv. ffde fomaneli & smm R R |
(A) i3 iii wd &

(B) i iv et &

(C) i 3 iv & &

(D) i 3 iv &l &
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g1. fr=afafaa = fuemy .

182.

1. AW a. gahE e §
AEd &
ERCHITERE]

2. TefeE b. s fau fom w
Tzw Tafim
e &S Kt 2

3. ¥ C. HY T G
afya e

4. UERITRE  d. Y H TE
BCan

5. UEHIEHGI e, Th HYLH
CURERCDH

1 2 3 4 5

(A) e a ¢ b d

(B)a e ¢ d b

(C) e a ¢c d b

(D) e a b ¢ d

fefafega i e sR-muEd e ?
1. ILA

2. IASLIC

3. ALA

4. IATLIS

(A) ILA (B) IASLIC
(C) ALA (D) IATLIS
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183.

184.

185.

186.

Match the following based on their year
of establishment.

Part- A Part-B

1. ALA a. 1933

2. ILA b. 1876

3. ASLIB c. 1955

4. IASLIC d. 1934
203 4

(A) a b ¢ d

B) b a d c

{C) b a ¢ d

(D) d ¢ b a

What is the full form of IFLA ?

(A) International Federation of Library
Associations

Indian Federation of Library
Associations

International Fellow of Library
Academy

Indian Fellow of Library Science
Academy

(B)
(C)

(D)

Which of the following is not in the group ?
1. Patents
2. Standards
3. Research papers
4. Bibliographies

Standards
Research papers
Patents
Bibliographies

Reference sources are those
(A) Which are expensive

(B) Which are used to find specific
information

Which are large in size
Which are read at home easily

(©)
(D)

0 .00 0 0 0 0 O 0

187. The following source provides public

188.

189.

190.

191.

- (B)

sector or Govt. information free of cost
1. xxx.gov
2. xxx.edu
3. xxx.com
4. xxx.org

(A) xxx.gov

(B) xxx.org
(C) xxx.edu

(D) xxx.com

Ready reference sources are those
which are

(A) Published annually covering
information about whole year '
Published annually covering
information about previous year
Published annually

Published annually covering
information about present year

B)

(C)
(D)

National Science Library, National
Science Digital Library, National Union
Catalogue are managed by

(A) INFLIBNET

(B) NISCAIR

(C) NISSAT

(D) CSIR

Which organisation is responsible for
assigning ISSN in India ?

(A) NISCAIR

(B) NISSAT

(C) Dept. of Publications

(D) UGC

LISA stands for

(A) Library and Information Science
Academy

Library and Information Science
Association

Library and Information Science
Abstracts

Library and Information Science
Administration

(©)

(D)
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1. ALA a. 1933
2. ILA b. 1876
3. ASLIB c. 1955
4. |ASLIC d. 1934
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1. xxx.gov
2. xxx.edu
3. xxx.com
4. xxx.org
(A) xxx.gov
(C) xxx.edu

(A)
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(B) Tirescya shaR H g uhid FHehaften
9 Y vl PR S §

(C) e &9 q R g o &

(D) SR T HaIH T Uehii b aliten
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(A) INFLIBNET

(B) NISCAIR

(C) NISSAT

(D) CSIR

-1 TS WA 3 ISSN Y69 4 & fore
Faei g ?

(A) NISCAIR

(B) NISSAT

(C) wereH farmr

(D) UGC

LISA & fogasa @

(A) TS U8 THITH HI5E TheHt

(B) TEs{l U FHIUTH IEH THIRITIH

(C) TSl U FHHTH UEH TsRa

(D) WSl U HHHTE URH
wgfifiRe

(B) xxx.org
(D) xxx.com
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Which of the following do not join the
group ? '

1. xxx.jpeg/jpg;

2. Xxx.png

3. xxx.tif

4. xxx.wmv

(A) xxx.jpeg/jpg;

(B) xxx.png

(C) xxx.wmv

(D) xxx.tif

Which of the following do not form the
part of group ?

1. xxx.docx

2. xxx.xlsx

3. xxx.pdf

4. xxx.ppt

(A) xxx.docx

(B) xxx.xlsx

(C) xx.pdf

(D) xxx.ppt

What does SDI stands for

(A) Standard Document Image

(B) Selective Dissemination of
Information

Selective Data Interchange
Standard Data Inteiface

(€)
(D)

Who proposed Management Theory of
Human Relations ?
(A) A. Maslow

~ (B) Henry Fayol

(C) E.Mayo
(D) Mc Gregor
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197.

198.

199.

200.

What are the guidelines for planning of
a library system ?

(A) Five laws of Library Science
(B) Law of Interpretation

(C) BIS/Regulatory Standards
(D) Principles of Osmosis

POPSI and PRECIS follow which type
of indexing systems ?

(A) Pre-coordinate indexing system
(B) Indexing services
(C) Indexing systems

(D) Post co-ordinating indexing system

Colon classification follows PMEST
pattern. In PMEST, T is denoted by

A) (B) ,
©) . D) :

Web OPAC or online catalogue follows
which standard ?

(A) MARC

(B) DC

(C) AACR

(D) All the above

Which of the following is very popular
in book classification ?

(A) Dewey Decimal Classification

(B) Colon Classification

(C) Library of Congress Classification
(D) Bliss Bibliographic Classification
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XXx.png

xxx.tif

4. xoxx.wmv

(A) xxx.jpeg/ipg;

(B) xxx.png

(C) »xx.wmv

(D) xoox.tif
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xxx.docx

. xlsx

xxx.pdf

4. xxx.ppt

(A) xxx.docx

(B) xxx.xlsx

(C) xxx.pdf

(D) xxx.ppt
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(A) g fase st fam

(B) =ameE & fam

(C) BIS/FrawesuF®

(D) TETRTET 1w
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(B) ol
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(A) MARC

(B) DC

(C) AACR

(D) I o+l
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(B) areifermy affentor
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IMPORTANT INSTRUCTIONS TO CANDIDATES
Swfigani & forg wevargul srgew

13.

This booklet contains 40 pages.

14. Directions : Each question or incomplete

15.

18.

19.

statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (®) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded compietely without leaving
any space. The correct method of shading is
given below.

Wrong Method

O®00

Wrong Method

0800

Wrong Method

C0@®@OO0O

Correct Methiod

o] Jele

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each

question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (®) more than one circle against
any one question, the answer will be treated
as wrong.

. In case of any discrepancy between the

English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
inthis Booklet. Allanswers mustbe indicated
in the Answer Sheet only.
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Go through instructions given in Page No. 1 (Facing Page)




